8 % TEE ug [0 8 % TEE ne [0
10) [#%R3 7 (8% - A#) BEYaAL (STD) 1 R K60 *vJ@E
11) |REsT ZURSBERT 3. 6m  (R—5-3lHx) 11 1) [R=9 - 8E T5RFy o8 BERT Sy b 1
12) |E&LD HER RE 2| 2
13) [BXE ABC20% (BBER) NIKKI [i%] 11 @ KRV T EBE
14) [KVvJIE J5Y RRIRF 1 1) [kKv T R-3FC (Y¥7FSNC631) 952:A-2& 1
KyJIE AHKRAF 1 2) |BERYT 960cc  (B#imzt) 1
15) [RBEEHR 11
16) [BfH 1 113 Ry T4
17) |=8 1] 1) [BkgE APU9824-BL1—AT (HiusA) 1
18) |a—Fy-i 11 2) |THY9%E ARy TALTR 1
19) |#ERTvH— # 500g 1 3) |[KvTrLY 30 [15%] 1
20) |75V ERyFy FIn—=KriyFy (6K) 1 4) | ARy T 254 (B%] 1
5) |FERKE 180m | REHRI V) 1
Yr—VER
(4) avy
C E RS ug 1) |k 75AEAE KHFC, OSAC 2
1) [TVYvEEE DA% L 1 2) |+#0 65AEAE AhFC, OfAC 2
2) [TyvvkREt PASZ: 5 1 3) [#tkA 65AEAE AfkFC, O%AC 4
3) |®BEHF i 1
4) (o770 pEE DA 1 (8) EEHA
5) [¥vIR# (BEERA) Yo Vg 2 1) [itER STDILAR 1
(6) ki
1) |58 HE - RERE 2000L-SS400 ERA2YaY 1
2) [ruk= AKXVLD 1
3) |kERkI VY 75A AFC/O0£BC &R 1
4) [KiiEkavy 65A AKFC/O2BC @ 1
CLL L1 o) [raner @k Fox ]
[ | 6) [KamiLs (agn) Fo 2
F j 7) | Ko 65ABAR ACH 2
i \ 8) |FLvavy 40AY0-TRLITR 1
[ ! \X o) |KaH 77ULER BEAL 2
I § (7) BHERUEE
[ | ") |emHana SSHER RUpYE K
l . ® 2) |[vrvs— $8=1350mmB&=1475mm 2 |2
= Yryh— §=1200mmEE=1095mm 4|4
S '| C ,' Yryh— E=1150mmEg=1250mm 11
) { Sy h— Y ys—24vF (BREHR) 7
\ / 3) [Fun=FL—+ S S WigRH 11
(8) BER
1) [Rv) ZAREH HE5VT (12wW) 8
l 2) |Rv7 - @ Fyvasv7 (12w) FLE 5) &8 2
i i 3) [staar kT IFT—10 FILE 2
1 ' i
(9) AL
1) |K7-x% BXE ATV DT~ 1
2) |BEIxF BXF ATV Ik hyT4UTY—+ 1
1, RHRRUBHEE
(l | | | (Z; 1) |KYTERHE [ER] 1007 b V&R (4 1
\ 2) |Kv7Emit (B8] 910071 hUER (i) 1
g l——— 3) |FeZtl 1
L L L 4) [errnmis BUAE ED 1
5) [B79ALo 1
6) BB (Y—F34 ) 6" 1/2B B# SYS-8318 (60W) [f#] 1
: L] 7) | et 1
2, RESRUMER
1) |RE 75x10M 2| 2
2) [RAZLR STD 2| 2
R 3) [AkRFREE AHEL STD L=800mm 1]
P L e —m— HxeEmEE TREKRR BE
Q;"' TN g «@/ ) [mezr $75M 2 | 2
oo 5) |E# 65%x500 2| 2
e " ’ = Q B 6) [/ 21 $20, 623, 626 (tyh) N
| i | T 7) |mORAea 65AR VKBl ACH (STD) 4
e | e 8) [eun STD 1. 8m STD2ARBKT (B 2
HR Hn ol ST oomm auw 1
ot et
7020~7040 Iﬁ iE3 |E‘_ = ] R?/ZO (253 Z: pr—
| B3 =

2232 |ﬁt

E

e ey vy e D It

F 2000L




